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Question 7 
 
7 points 
 
Parts (a) and (b): 4 points 
  
One point is earned for each

 

 accurate identification of the differences in the level of conventional forms 
of participation.   

Acceptable differences include: 
• More British turn out (61 percent) than do Nigerians (49 percent). 
• More Nigerians (74 percent) discuss politics than do British (46 percent). 
• More British sign a petition (81 percent) than do Nigerians (7 percent). 

 
One point is earned for each

 

 accurate explanation of the differences in the level of conventional forms of 
participation. 

Acceptable explanations may include: 
• Voter turnout rates 

o Strong People’s Democratic Party may lead to lack of competition. 
o There are more barriers to participation in Nigeria. 
o Election-day disturbances occur in Nigeria. 
o Nigeria has remote polling places. 
o There is a history of election fraud in Nigeria. 
o Britain has a larger number of party identifiers. 
o Britain has more democratic stability. 
o British electoral and party stability encourages participation. 
o British political culture encourages voting as a citizen’s duty. 

 
• Difference in rates of political discussions 

o Personalist nature of Nigerian society leads to greater discussion of politics. 
o Nigerian communal practices lead to more social interaction. 
o The British are more likely to keep political views private. 
o Class consciousness (haves versus have nots). 
o Campaigns in Britain are shorter, so there is less opportunity to discuss politics. 

 
• Difference  in rates of signing petitions 

o Nigerians are apprehensive about signing documents for fear of retribution. 
o The British are reluctant to protest; signing a petition is easier than other forms of protest. 
o Higher literacy rates in Britain enable the British to engage in written forms of protest.  
o The British believe they have efficacy and that petitioning can have an impact on 

policymakers. 
 

Note: Corruption does not earn a point unless it is linked to other factors. Ethnic differences do not earn a 
point unless they are linked to other factors. 
 
Part (c): 2 points 
 
One point is earned for describing a specific incident of violent activity in Great Britain in the last fifteen 
years. 
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Question 7 (continued) 
 
Acceptable incidents of violent activity in Great Britain may include: 

• 2005 London bombings 
• 2007 Scottish airport bombing 

 
Note: IRA activity does not earn a point unless it refers to a specific incident or is put in context. 
No point is awarded for an ongoing conflict or series of attacks unless a specific context is included. 
 
One point is earned for describing a specific incident of violent activity in Nigeria in the last fifteen 
years. 
 
Acceptable incidents of violent activity in Nigeria may include: 

• kidnappings of engineers 
• oil workers taking over platforms 
• blowing up pipelines 
• violence at the polls 
• violent protests over elections 

 
Note: Ethnic conflict, or a series of attacks, does not earn a point unless a specific context is included. 
 
Part (d): 1 point 
 
One point is earned for an explanation of why citizens might choose violent acts over conventional forms 
of participation. 
 
Acceptable explanations include: 

• Citizens do not feel the government is legitimate. 
• Citizens’ voices will not be heard through conventional participation. 
• Lack of viable alternatives/forms of participation leads to frustration among citizens. 
• There are norms of accepting political violence. 
• Violence gains the attention of the press/government/international community. 

 
Note: Corruption does not earn a point unless it is linked to efficacy. Students might provide an 
explanation for Great Britain and a different explanation for Nigeria. This is acceptable for a point as long 
as both arguments are correct. 
 
A score of 0 is earned for an attempted answer that merits no points. 
A score of dash (–) is earned for a blank or off-task answer. 
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Question 7 
 
Overview 
 
The intent of this question was for students to compare types of political participation, including 
conventional forms and violence. Using information from a table, students had to (a) identify and explain a 
difference between the types of conventional forms of participation in Nigeria and those in Great Britain; 
(b) identify and explain a second difference between conventional forms of participation in Nigeria and 
those in Great Britain; (c) describe one specific incident of violent political activity in Great Britain in the 
last fifteen years and one specific incident of violent political activity in Nigeria in the last fifteen years; 
and (d) explain why citizens of both countries might choose violent acts over more conventional forms of 
political participation. The skills tested were both descriptive and analytical: to interpret a table, describe, 
identify and explain.  
 
Sample: 7A 
Score: 7 
 
In part (a) the response earned 1 point for identifying a difference in the level of conventional participation 
as “citizens in Britain are much more inclined to sign petitions than are citizens in Nigeria.” One point was 
also earned for explaining that “British citizens have greater political efficacy than do Nigerian citizens.”  
 
In part (b) 1 point was earned for identifying a difference in the level of conventional participation: “a 
greater percentage of Britons vote than do Nigerians.” Another point was earned for the explanation that in 
Nigeria there have been “many allegations of such things as ballot-box-stuffing.”  
 
In part (c) 1 point was earned for describing a specific incident of violent political activity in Great Britain 
as “the terrorist bombings in London in 2005.” One point was also earned for describing a specific incident 
of violent political activity in Nigeria: “violence erupted in 2007 when citizens who were outraged about 
the allegations of electoral fraud took to the streets and clashed with the police.”  
 
In part (d) the response earned 1 point for explaining that citizens in both countries might use violent acts 
over more conventional forms of participation because “government is unresponsive” and “they have been 
marginalized by the political process.” 
 
Sample: 7B 
Score: 4 
 
In part (a) 1 point was earned for identifying a difference in conventional participation: “A large difference 
between Great Britain and Nigeria is the voter turnout. Great Britain’s is at 61% while Nigeria’s is at 49%.” 
Another point was earned for the explanation that “people in the UK believe that elections are legitimate. 
They know that the votes would have been counted fairly and would be free of fraud.”   
 
In part (b) 1 point was earned for identifying a difference in conventional participation — “signing a 
petition” — as “[t]he UK is at 81% while Nigeria is only at 7%.” The response also earned 1 point for 
explaining that in Great Britain “the government will look at” a petition.  
 
In part (c) “the IRA in Northern Ireland” is not put in a specific context, and therefore no point was earned. 
Also, the statement about military coups does not describe a specific incident of violence and therefore 
earned no point.  
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Question 7 (continued) 
 
In part (d) the response notes that violence in Great Britain is “a way to get their point across in a big way,” 
which is a correct explanation that violence garners attention. However, the discussion of Nigeria 
inaccurately states that violence is used when “the government was weak.” Therefore no point was 
earned. 
 
Sample: 7C 
Score: 1 
 
In part (a) the response does not identify a difference between the levels of conventional participation, and 
the explanation does not refer to a factor given in the table; therefore, no points were earned. 
 
In part (b) 1 point was earned for identifying a difference in the forms of conventional participation by 
stating that “[i]n signing a petition Great Britian [sic] has more participation.”  
 
In part (c) the response does not describe a specific incident of political violence for either country and 
therefore earned no points. 
 
In part (d) the statement that violence is “a quicker way to get their point across” is overly broad, and 
therefore no points were earned. 
 
 


